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02 012t AE X 148,564 93,576 54,988
o SXH0IA BREX 148,564,000 148,564
= 74,282
& 37,141
= 37,141
BEANE IH2 24,000 30,000 6,000
= 12,000
= 6,000
iy 6,000
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AN FRMETA D
B OH=X - BT IS
chel: 2572 (9l &2
SN S(B) - NRAY - B2 Aro e =2
307 glz2told 24,000 30,000 26,000
= 12,000
= 6,000
= 6,000
02 BltFAE=X 24,000 30,000 26,000
o EA4d IE2Idl X (10012)
24,000,000 24,000
= 12,000
= 6,000
i 6,000
SESAIE WHwd| 6,000 12,000 26,000
= 3,000
& 1,500
= 1,500
307 QI2t0IA 6,000 12,000 26,000
= 3,000
& 1,500
i 1,500
02 QItFAE X 6,000 12,000 26,000
o ESA4 DMWFH XA (BHL)
6,000,000 6,000
= 3,000
= 1,500
i 1,500
A4 Eotes XN 2,480 12,500 A 10,020
L= 1,240
i 1,240
307 QIZt0IA 2,480 12,500 210,020
& 1,240
= 1,240
02 QItFAE X 2,480 12,500 A 10,020
o HILAZAIL QI o
2,480,000 2,480
= 1,240
i 1,240
SEESAE JINM 22 60,000 100,000 240,000
= 30,000
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SN FOMET R
HH: A=K 2R ISKE
el 2R (sl &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SEEFAE JINM 2 T 15,000
iy 15,000
201 B9y 5,000 5,000 0
= 2,500
= 1,250
o 1,250
01 ArS2t2|b| 5,000 5,000 0
< gt=d| > 0
o ZEESAE JIAM 2 5,000,000 5,000
= 2,500
o= 1,250
= 1,250
405 KH&HF S HI 55,000 95,000 40,000
= 27,500
= 13,750
2 13,750
01 AL =ZESFSHI 51,000 93,000 A42,000
o SEESAE BEH 2 05 51,000,000 51,000
= 25,500
< 12,750
= 12,750
02 = M7 4,000 2,000 2,000
o SEEFAIE TAFLHI 4,000,000 4,000
= 2,000
o= 1,000
= 1,000
BRAIE SHMA 2,000 32,000 30,000
= 1,000
= 500
iy 500
402 QI2tX =0l 2,000 32,000 30,000
= 1,000
o= 500
iy 500
01 QI2X=2EX 2,000 32,000 30,000
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A 2SN
By A=K - 25 - J}=KE
el 2R (sl &
S BB SR (B) - NEAY - BAS 0f & o Soe DB
o BRA4 Fuldl XA (1HL) 2,000,000 2,000
= 1,000
S 500
s 500
ESAMEXNHA 6,600 6,600 0
201 LErEgH| 1,800 1,800 0
01 AtR2cidl 1,800 1,800 0
<2Ysg > 0
o BRI 8o Mg
50,000 * 12 * 32 1,800
301 et2d= 4,800 4,800 0
01 Aal2HH*06= 4,800 4,800 0
o EFAN4E NESAH X
20,000 = 10 = 23 « 12 4,800
AM&EDI0IES0tsL=EX& 28,640 0 28,640
= 14,320
< 7,160
= 7,160
307 QIZ2told 28,640 0 28,640
= 14,320
S 7,160
= 7,160
02 glztAAMEx 28,640 0 28,640
o A40l0lE0tsE=X& 28,640,000 28,640
= 14,320
= 7,160
s 7,160
Ots=XXE 1,587,760 1,094,355 493,405
= 335,422
= 447,532
s 478,403
= 326,403
OtssA X 346,140 365,852 A19,712
= 87,570
= 214,785
o 43,785
.
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B8 JENY

SA - HE - SR(E) - HRAY

HyS
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B
2

o HI

M

346,140
87,570
214,785
43,785

365,852
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0
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1
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0
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o
i
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O
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0
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O
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>
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0
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>
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171,000,000

H

13,140,000

HI

Moo

162,000,000

HI

Mo

346, 140

171,000
171,000
13,140

6,570
3,285
3,285
162,000

81,000
40,500
40,500

365,852

A19,712

=
oM
02
Ho
=
X
Ho
02
>
0

M H

A

488,320
339,724
74,298
74,298

470,019

18,301

H o HI

M

488,320
339,724
74,298
74,298

470,019

18,301

02 oIt A X

oo

o OtsS=XNAE 2N

0
0x
021
=
2
bal
w
0
J
oy

485,320,000

HI

Mo

3,000,000

Mo

488,320
485,320

339,724
72,798
72,798

3,000

1,500
1,500

470,019

18,301

OlsSXAIE SHIXI ALY

M H

A

46,540

750
31,395
14,395

42,560

3,980
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SN F0IME X D
X XH - O;I/\-IE
(==l I (=}

=X - 25 EXNA
cH9l: oS = XIXI2 (S92l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0lA 46,540 42,560 3,980
= 750
= 31,395
= 14,395
02 BltFAE=X 46,540 42,560 3,980
o ElA4A0ts NHEEEHS 1,500,000 1,500
= 750
= 375
i 375
o A4otsadlstiis 5,000,000 5,000
= 2,500
o 2,500
o AMElIsMEE= 8,400,000 8,400
= 4,200
i 4,200
o ANEOIsSMES 2 14,640,000 14,640
= 7,320
i 7,320
o MEIZSXAIE SAA EE8€H
17,000,000 17,000
= 17,000
Ots=EXAIE JIsE2Z A 430,860 0 430,860
=2 215,430
& 107,715
= 107,715
402 QIZEXE01H 430,860 0 430,860
= 215,430
& 107,715
= 107,715
01 BIZEXI=22 X 430,860 0 430,860
o OIsSXAEIIsE2ZAE 430,860,000 430,860
= 215,430
= 107,715
o 107,715
X otsdH 23 99, 268 52,800 46,468
= 49,634
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X2 3
B8 JENY

K& EHA)
B3 . o9 (31) - MBA e Aol e 2

dE 29 T 24,817
iy 24,817

o120l & 99,268 52,800 46,468
= 49,634
& 24,817
o 24,817

QI2HEAME X 99,268 52,800 46,468
AOtsSHEH S2HA2 99,268,000 99,268
= 49,634
= 24,817
o 24,817

K WAFKI S (A3 L XFel X&) 49,440 37,092 12,348
= 34,608
= 7,416
iy 7,416

2H01 & 49,440 37,092 12,348
= 34,608
< 7,416
2 7,416

QIHEAE X 49,440 37,092 12,348

o OIS=E2XDAHAIEIE L Tel) X

49,440,000 49,440
= 34,608
= 7,416
= 7,416

HIIEY JIE/E A= 39,900 41,420 A 1,520
= 19,488
= 10,206
iy 10,206

st A S 39,900 41,420 A 1,520
= 19,488
== 10,206
iy 10,206

A BE A G S 39,900 41,420 A 1,520
HAE OIS =X (29Y) 24,360,000 24,360
= 19,488
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S A

A2

=Ee L Bs . J=Exe
CHel e &2
.o (3) - MBEAY - BaS Aol e 2t
== 2,436
- 2,436
SAEHIIEIE/ENN 22
7,440,000 7,440
= 3,720
o 3,720
HAHIME HetRIsHX 2 5,000,000 5,000
T 2,500
= 2,500
SAENEMN SE MY 3,100,000 3,100
< 1,550
= 1,550
3 MlEEE K& 2,771 3,600 A 829
= 1,785
= 493
o 493
20| & 2,771 3,600 A 829
= 1,785
= 493
2 493
== 2,771 3,600 A 829
o JIA/AEANU MOIEES 2,771,000 2,771
= 1,785
= 493
= 493
ok APz A 8,561 9,132 A571
= 5,993
= 1,284
iy 1,284
ug A= 8,561 9,132 A571
= 5,993
= 1,284
o 1,284
SIBENLHZS 8,561 9,132 A571
o HHOISYY AdREBXZ 8,561,000 8,561
= 5,093
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Ol g X & ot
|:,O

C OSSN

- 85= .

2| & 2
SA-EH O (BH) - HBAY - B2 Ao gggf; HRS2
== 1,284
- 1,284
A0S ==X 14,400 9,600 4,800
= 10,080
== 2,160
iy 2,160
301 dE8BAMZ 14,400 9,600 4,800
= 10,080
= 2,160
iy 2,160
01 AIZIE& 14,400 9,600 4,800
o g0ts 14,400,000 14,400
= 10,080
o= 2,160
= 2,160
OtsSLE X AH XX A 25,560 26,280 AT20
= 17,892
== 3,834
iy 3,834
301 LBt A= 25,560 26,280 NT720
= 17,892
== 3,834
iy 3,834
01 AIZIE& 25,560 26,280 AT20
o Olsge 25,560,000 25,560
= 17,892
o= 3,834
= 3,834
A2EIE =Y 36,000 36,000 0
301 Lot A 36,000 36,000 0
01 AIZIE& 36,000 36,000 0
o Z#EIHH
30,000 = 100 * 128 36,000
MNASIHE K& 80,972 83,482 N2,510
= 20,523
= 30,225
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SAM =0
& dgd=s - 25 - JIEXE
Bl MASOHE A& EERSE

SN HH G (EH) - MBAY - BYS Ak e 2
MASHE K& i 30,224
SHR2ItE XI# 80,972
= 20,523
L= 30,225
= 30,224
301 YBtEa= 80,972
= 20,523
= 30,225
= 30,224
01 AME2HEE=S63 80,972
o SR IIEAH LFUWSFHI 25,655,000 25,655
= 20,523
& 2,566
i 2,566
o MEOtEZ 43,200,000 43,200
= 21,600
i 21,600
o HeXEEt= 3,000,000 3,000
= 1,500
i 1,500
o Ots2 =] 3,285,000 3,285
= 1,643
o 1,642
o IZMIESH] 5,832,000 5,832
< 2,916
o 2,916
2201204 JIEXA 251,736
= 147,959
& 41,639
= 62,138
ZE012 XIS X 20,500
201 Letd| 5,500
03 A2l 5,500
o U2sIIE AgELY8Ds
250,000 » 22%H 5,500
307 2IZ2t0lA 15,000
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SN F0IME X D
HE: H=X - 25 SN
2200l

Sl 2EO0I9K SN (S5 8 9)
SN-EHH S (3H) - HEAY - BES Ofl &t o ggi Hnz2
04 SIZFBAEE 15,000 0 15,000
o 023ty 8t0ts SX
15,000 * 1,000% 15,000
ASOIURIE OISSS XA 211,370 0 211,370
= 147,959
= 31,706
2 31,705
307 I2t0|H 211,370 0 211,370
= 147,959
= 31,706
2 31,705
05 DI2I9IE3 211,370 0 211,370
o LI23ItE XANEH 29 70,000,000 70,000
2 49,000
= 10,500
2 10,500
o L2305 Y2NF A 141,370,000 141,370
2 98,959
= 21,206
2 21,205
CEsls QHY AZR2 N 19,866 0 19,866
= 9,933
2 9,933
307 eI2t0IH 9,866 0 19,866
= 9,933
2 9,933
2 BIABNBX 19,866 0 19,866
o O2aty AHWAZ2E X
19,866,000 19,866
= 9,933
2 9,933
HHSYPH(FUME XA D) 132,262 73,305 58,957
OlZi 2 | (T ME X 8 D) 38,969 23,795 15,174
X EOI2HHI (FRIME X 8 D) 34,769 20,795 13,974
101 Q12| 34,769 20,795 13,974
2 2 34,769 20,7% 13,974
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0l A SRR 0t
HY2AZH (FUMEX 2 )
ol 2| (F=2ME X2 ) &)
- _ _ poE N
2N -3 - c2(3H) - NEME - HES AFoH oﬁwa 2
o X2
7,665 x 218 * 18AI2t = 12& 34,769
MoI2AH| (F=01 4 & X2 ) 4,200 3,000 1,200
203 YRFZIH| 4,200 3,000 1,200
04 2A2ILRFEUI 4,200 3,000 1,200
o 309! 0lat 350,000 * 12& 4,200
ZH(FMEX A1) 93,293 49,510 43,783
2ZH(MEXNJALH) 26,569 23,012 3,557
201 BRI 19,489 17,352 2,137
01 AtR2te2ld| 16,889 14,752 2,137
< gt2H| > 0
o HOAUAEIN EEFL
10,000 * 105 * 102 1,000
o EAMIEYH 153,700 *= 1CH = 84 1,230
o HMAE 132,600 * 1CH = 504 663
o ZZIHEY 155,500 * 6CH * 44 3,732
o SAMEX 2 20,000 = 82fA * 128 1,920
o M=% 7Y 100 * 10,0000H 1,000
o MERSE 1,536
- S 12,000 * 45 * 12& 576
- KX 8,000 » 102 * 12& 960
o MISKNYRFI AMARESE P2
20,000 » 68 * 12& 1,440
< SEH| > 0
o MISK LRFX
7,000 » 4% * 82 x 12& 2,688
o MEXA ARFX
7,000 » 5 * 42 « 12& 1,680
02 23224l 2,600 2,600 0
< S3SLZYLHA > 0
o M3 150,000 = 1CH = 12& 1,800
< ANEEHISXIHl > 0
o ZAI| %2l 200,000 = 2CH = 23| 800
202 OiH| 7,080 5,660 1,420
01 2LHNHI 7,080 5,660 1,420
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chel:

02 44
M 0x re
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==y
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0z I

09 e
oY
e 2

0 [0 0

M
o

20z

10 e

[

<
=2

- _ _ poE N
N33 . c2(3H) - NEME - HES AFoH ‘Oﬁ,‘\jo“ Hns
o MESXYR F=A 20,000 » 5% * 30 3,000
o AMBE2XAISY CHAX 22 AMHIA 4,080
- ZtLY 20,000 » 3% * 40 2,400
- 2e 35,000 * 3% = 16 1,680
Jlgddl(MulA eg) 18,401 18,401
201 ey 15,401 15,401
01 AtR2tel 10,584 10,584
< YbteZ 0
o FDIMEX|IAMHIACHHA ME
10,000 * 5002 5,000
o MNREZE 2 40,000 * 38 * 128 1,440
o FOUAMHIA EEE M
50,000 * 23] *~ 11JH 1,100
o Ty &Y 325,000 = 1CH = 23] 650
< SEHl > 0
o MHIAGH LRFX
7,000 » 3% * 114 2,394
02 232< 4,817 4,817
<3323 0
o MHIAAH He2
270 » 118 = 50004 1,485
o RS A Hul AIZ22
36,000 = 12& 432
o XS A I3 20,000 = 12& 240
< z24d| > 0
o KIS A HegE ®RFH
2,000 * 10§ * BAIZF * 60 960
< Al EHIs Xl > 0
o RS A I =&KX
300,000 * 1CH 300
o NEEA AEE 28R
200,000 = 1CH * 23] 400
o QMY AMAE ™ AR X H]
250,000 * 43 1,000
202 OiHl 3,000 3,000
01 2LHNHI 3,000 3,000
o FOIAMHIA XA XA
20,000 * 2% * 50 2,000
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